7189 AR SEAA EATFu S5 4% (k] - xd9)
2 o 1=]

gopzg 22| B3| 2% AR %A% AU 2323 A4 | @

3+ 22,851,113 310,340,315 333,191,428

s 21,848,348 296,051,240 317,899,588

FolL 2T TS 21,556,363 286,277,947 307,834,310

& g=Ex 42 995,679 20,754,006 21,749,685

15733 Led 530,759 15,543,401 16,074,160

TR & RE PR | A500,000 2,933,134 2,433,134

1. 22 HAA SR L 500,000 1,372,300 872,300

7F. 2 A a9 AR S E - 500,000 1,084,300 584,300

1) 38hdEera}n) 210-13 243,400,0009 — <7]14>743,400,0004 = A500,000 743,400 243,400

NEHRA G A AMNA 1,030,759 12,532,432 13,563,191

1. 8 a A SA A g 528,759 12,136,229 12,664,988

7h AFEA 2T AJN2IT 2944 528,759 528,759

1) A A 16,659 16,659

7H A Am] 420-02 512,100,000¢ X 3.253% X 90%= 14,993 14,993

) A AN () SE2D) 420-02 512,100,000¢ X 3.253% X 10%= 1,666 1,666

2) AlAdn] 512,100 512,100

7hH) EEAA 420-03 50,0009 X 4,500m X 90%= 202,500 202,500

W) EEAA ()5} 420-03 |50,000¢ X 4,500m' X 10%= 22,500 22,500

th) o1z A X 420-03 63,8009 X 4,500m X 90%= 258,390 258,390

2h) ) A (-8 FAh) 420-03 [63,8009 x4,500m X 10%= 28,710 28,710

2. 15 AAMNA 502,000 396,203 898,203

7h OF) ATt Ad A H A Y 502,000 502,000

1) AA A EEA = 420-03 500,000,000 x 124 = 500,000 500,000

2) 8= 210-01 50,0009 X 16%& X 13]= 800 800

3) 893 230-02 15,0009 X 207 X 43]= 1,200 1,200

PR = 464,920 1,200,630 1,665,550

St Yol v S 471,920 419,241 891,161

1. 7 ZFurAulx & 471,920 419,241 891,161

7}, st EE A YA 471,920 471,920

1) 98¢ 210-01 50,0009 X 6% X 108 = 3,000 3,000

2) & LTLAA 20,430 20,430

7H AL+ 210-02 [50,0009 x 10714 = 500 500
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AT (2] = 9
ALRE B 5 Ao 2357 | 13 3 7

) oY o= 210-02 |70,0009x1071€9= 700 700

o A71e+ 210-02 |1,800,0009 x1071€= 18,000 18,000

2h) A= 210-02 [100,0009 x 10714 = 1,000 1,000

uh) A57)A 28 210-07 23,0009 x1071€= 230 230

3) ZAE 210-06 |300,0009 X357 x 471 x 97 L= 378,000 378,000

4) Al gu) A B 8,090 8,090

7H AAEFRA B 210-13 [2,920,0009 x 23] = 5,840 5,840

) A EH A 210-13 |225,0009 x103]= 2,250 2,250

5) A3 A 62,400 62,400

7H SR8 FE 430-01 1,300,000 x 2t} = 2,600 2,600

W) E& 430-01 |1,400,0009 x 350 = 49,000 49,000

th A ZHEY) 430-01 |1,000,000¢ x 2t} = 2,000 2,000

2h) A x}EA}7) 430-01 14,950,0009 x 1= 4,950 4,950

uh) EA AT 430-01 400,000 x 1tj]= 400 400

Bp) AL A} 430-01 |150,000¢ x 8tfj= 1,200 1,200

AP WA 430-01 |1,800,0009) x 1t}= 1,800 1,800

o) AA}#H Q1A 430-01 [150,000¢ x 1= 150 150

A} A7 430-01 |300,000¢ x 1dj= 300 300

AN TE = A7,000 248,971 241,971

1. §(WEE)Z2HAEL2AX ¢ A7,000 248,971 241,971

7}, AEAG =3 WAL A7,000 50,100 43,100

1) =3|09n) 220-01 30,600,0009 — <7174>37,400,0008 = 6,800 37,400 30,600

2) 91<=1] 210-15 900,000 — <714>1,100,000¢ = A 200 1,100 900

5,617,378 80,940,603 86,557,981

5,617,378 80,928,413 86,545,791

A £A660,254 65,536,835 64,876,581

1. #3528 R4 A577,104 58,455,932 57,878,828

7F x4 A361,700 6,027,129 5,665,429

1) %’-% 620—03 |1,266,141,000¢ — <7]1%>1,348,136,000 = A81,995 1,348,136 1,266,141

2) /\}Tﬁ 620—10 [4,399,288,000¢ — <7]1%>4,678,993,000¢ = N279,705 4,678,993 4,399,288

U 258k 197,502 22,293,162 22,490,664

1) =9 610—03 |253,078,0009 — <71%>257,168,0004 = ~4,090 257,168 253,078




A= e FA3%3 | 1Ay 2
2) & 620—03 |22,237,586,0009 — <71%>22,035,994,000¢ = 201,592 22,035,994 22,237,686
o}, 2w A152,314 14,769,341 14,617,027
D+ 620—03 | 11,282,097,0009 - <71%>11,428,538,0009 = A146,441 11,428,538 11,282,097
2) A]—% 620—10 |3,334,930,0009 — <71%>3,340,803,000¢ = NAD,R73 3,340,803 3,334,930
2} Sk A~206,710 14,827,668 14,620,958
1) = 610—-03 503,586,0009 — <71%>512,134,0004= NA8,548 512,134 503,586
2) &9 620—03 [5,119,898,000¢9 — <7]%>5,219,749,000¢= 299,851 5,219,749 5,119,898
3) A 620—10 |8,997,474,0009 — <71%4>9,095,785,00091 = ~98,311 9,095,785 8,997,474
u}, EZ=8ly A2,356 393,756 391,400
1) 29 620—-03 | 274,360,0009 — <71%3>278,388,0004 = A4,028 278,388 274,360
2) A 620-10 117,040,000 — <71%3>115,368,0004 = 1,672 115,368 117,040
uf. 8kl 320-01 |93,350,0009 — <71%>144,876,0009= A51,526 144,876 93,350
e A16,134 660,000 643,866
7F 8-x9 A13,280 77,475 64,195
1) 39 620-03 14,563,0009 — <714>15,597,0004 = A1,034 15,597 14,563
2) AFY 620—-10 149,632,0009 — <7174>61,878,0008 = A12,246 61,878 49,632
U x538ky 927 271,373 272,300
1) =9 610-03 3,077,0009 — <717%>3,127,0009 = A50 3,127 3,077
2) 39 620-03 269,223,0009 — <71%8>268,246,0004 = 977 268,246 269,223
o}, = w A1,542 150,866 149,324
1) 29 620-03 | 115,036,0009 — <718>116,545,0004 = 21,509 116,545 115,036
2) A+ 620-10 34,288,0009 — <717%>34,321,0009 = A33 34,321 34,288
g pE=sky A2,244 156,733 154,489
1) =9 610-03 5,100,0009 — <717%>5,186,0009 = A86 5,186 5,100
2) 39 620-03 51,269,0009 — <7174>52,436,0004 = A1,167 52,436 51,269
3) A 620—-10 198,120,0009 — <7]174>99,111,0004 = ~991 99,111 98,120
np, E58by 5 3,553 3,558
1) 39 620-03 2,494,0009 — <7]17%>2,504,0009 = A10 2,504 2,494
2) A 620—10 |1,064,00090 — <71%>1,049,00091= 15 1,049 1,064
3. A=A AB7,016 6,394,133 6,327,117
7F 8-x9 A33,545 579,156 545,611
1) 39 620-03 123,751,0009 — <71%>132,561,0004= ~8,810 132,561 123,751
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At & E=A= 2= < FRTH 7174 of| At N A
2) AHY 620—10 |421,860,000¢ — <71%4>446,595,0009 = A24,735 446,595 421,860
U, 258w 8,107 2,374,527 2,382,634
1) =9 610—03 |26,923,0009 — <71%>27,358,0009= A435 27,358 26,923
2) %1% 620—03 12,355,711,0009 — <71%>2,347,169,0004 = 8,542 2,347,169 2,355,711
o}, Zskw A17,758 1,734,962 1,717,204
1) %1% 620—-03 |1,322,890,000¢ — <7]1%>1,340,267,000 = A17,377 1,340,267 1,322,890
2) AHY 620—10 |394,314,000¢ — <71%4>394,695,0009 = A381 394,695 394,314
gt 158w A~23,670 1,668,253 1,644,583
1) =9 610—03 |53,546,000¢) — <717%>54,455,0009= A909 54,455 53,546
2) 29 620—-03 |538,310,000¢ — <71%>550,580,000¢1= A12,270 550,580 538,310
3) /\}% 620—10 |1,052,727,000¢ — <7]1%>1,063,218,000¢ = N10,491 1,063,218 1,052,727
n}, EZ=8ly A150 37,235 37,085
1) 39 620—-03 |25,776,000¢) — <71%>26,030,0009= A254 26,030 25,776
2) A+ 620—10 |11,309,0009 — <71%4>11,205,0009= 104 11,205 11,309
ANA 6,277,632 15,391,578 21,669,210
1. & FA 7| FHALAEF 6,277,632 15,391,578 21,669,210
7}, =T FA 7T A 952,015 1,378,688 2,330,703
1) &x9 7,120 160,069 167,189
7H ¥4 620-04 [12,079,0009 — <7]17%8>4,959,000¢4 = 7,120 4,959 12,079
2) 2538ty 620—04 |969,755,000¢ — <71%4>646,906,0009 = 322,849 646,906 969,755
3) T 380,302 215,244 595,546
7h FH 620—04 |362,760,000¢ — <71%4>122,595,0009= 240,165 122,595 362,760
) A 620—11 |232,786,0009 — <71%>92,649,00091= 140,137 92,649 232,786
4) 1 5stw 241,744 313,474 555,218
b FH 620—04 |223,675,0009) — <71%>66,160,00091= 157,515 66,160 223,675
) A+ 620—11 |331,543,0009) — <717%>247,314,0009 = 84,229 247,314 331,543
U, F2 A A 3 o 3) 2,440,672 5,136,007 7,576,679
1) AAEA AT (A7) ESFAD 48,410 112,693 161,103
7H Aldn] 48,410 112,693 161,103
(1) 29 =% 620—04 |83,431,0009) — <71%>35,021,0009= 48,410 35,021 83,431
2) AFFx A= 753,504 41,031 794,535
71 Al AdH) 420-03 |5,344,0009 X 141m'= 753,504 753,504
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3) AFaAAgAerds 1,395,795 56,592 1,452,387
7h) A An) 420-03 |3,873,0009 X 359.1m'= 1,390,795 1,390,795
) 7] Fo]Adn] 620—03 |5,000,0009 x 14 = 5,000 5,000

4) AFEx A 50,913 50,913
7h A Am] 420-02 |906,282,000¢ X 5.066%= 45,913 45,913
L} 7] F0]Adn) 620—03 |5,000,000¢ x 12]= 5,000 5,000

5) AFAgtxA Gt S oA 125,400 125,400
7H A)Adn] 420-03 120,900,000¢ x 64 = 125,400 125,400

6) AFNY 22 A EAX WA T 4T 41,150 41,150
7H A1 H| 620—04 |41,150,0009 x14]= 41,150 41,150

7) AFEU L E-N A 0 A 25,500 25,500
7H AlZdn] 620—04 |510,000¢ X 50m= 25,500 25,500

= A PSR R ) 619,009 506,940 1,125,949

1) 258ty 620—03 |648,198,0009 — <71%8>466,781,0009 = 181,417 466,781 648,198

2) =8 620—03 |352,959,0009 — <71%>37,316,000¢ = 315,643 37,316 352,959

3) 153t 620—03 |121,949,0009 = 121,949 121,949

gt A A Zg ] dn A 2,265,936 8,369,943 10,635,879

1) a5 Estar 163,606 163,606
7H A Am] 620—-04 |6,668,0009¢ x 14]= 6,668 6.668
) A]A b 620—04 |156,938,0009 x12]= 156,938 156,938

2) AFxEx 21,117 21,117
7h A Am] 420-02 |467,818,000¢ X 3.445%= 16,117 16,117
L} 7] Fo0]Adn) 620—03 5,000,000 x 12]= 5,000 5,000

3) AFEL% 650,584 650,584
7FH A A 8| 420-02 [625,020,0009 % 3.290%= 20,564 20,564
) Al 420-03 1,894,000 X 330m'= 625,020 625,020
th) 7] Fo]Adn] 620—03 |5,000,000¢ x 14 = 5,000 5,000

4) AFddx 494,765 194,765
7 A Am] 420-02 |473,500,0009 X 3.435%= 16,265 16,265
) Al b 420-03 |1,894,0009 X 250m'= 473,500 473,500
th) 7] Fo]Adn] 620—03 |5,000,000¢ x 14]= 5,000 5,000

5) A+H sz 192,545 192,545
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7 A A H| 420—-02 |562,518,0009) X 3.340%= 18,789 18,789
) Al H] 420—-03 |168,756,0009 x 12 = 168,756 168,756
th) 7] Fo]Adn] 620—-03 |5,000,0009 x 12]= 5,000 5,000
6) AFA == 25,195 25,195
7H A Am) 420-02 1611,762,0009 x 3.301%= 20,195 20,195
L} 7] F0]Adn) 620—03 |5,000,000¢ x 12]= 5,000 5,000
7) AFANTE 21,808 21,808
7H A Am] 420-02 |494,334,0009 X 3.400%= 16,808 16,808
) 7] o] n] 620—-03 |5,000,0009 x 12]= 5,000 5,000
8) AFFT&H= 24,277 24,277
7 A A 8] 420-02 [579,564,0009 X 3.326%= 19,277 19,277
) 7] Fo0]Adn) 620—03 |5,000,000¢ x 14 = 5,000 5,000
9) AT = 19,503 19,503
7h) A A ) 420-02 |409,104,0009 X 3.545%= 14,503 14,503
) 7] o] Adn) 620—03 |5,000,0009 x 14 = 5,000 5,000
10) A4tz 26,348 26,348
7H A Am] 420-02 1653,430,0009 X 3.267%= 21,348 21,348
) 7] o] n] 620—03 |5,000,000¢ x 14 = 5,000 5,000
1) AFdex 21,066 21,066
7hH A An] 420-02 |465,924,0009 x 3.448%= 16,066 16,066
L} 7] Fo]Adn) 620—03 5,000,000 x 12]= 5,000 5,000
12) A9z 20,455 20,455
7H A Am] 420-02 |443,196,0009 X 3.487%= 15,455 15,455
) 7] Fo]Adn] 620—03 |5,000,0009 X 12]= 5,000 5,000
13) AF5-4d%F 20,708 20,708
7h A Am] 420-02 |452,666,0009 X 3.470%= 15,708 15,708
) 7] Fo0]Adn) 620—03 |5,000,000¢ x 14 = 5,000 5,000
14) AF25% 21,659 21,659
7 A Am] 420-02 |488,652,0009 X 3.409%= 16,659 16,659
) 7] o] n] 620—-03 |5,000,0009 x 14 = 5,000 5,000
15) d+a98x 88,093 88,093
7H A Am] 620—-04 |75,600,0009 X5.281%= 3,993 3,993
T - fFotd xS — B2 — 9438 — stu a2 34 74




18 AEZEY A
7137 AR SHEAXN EATFUSA A (9] ")
gopzg 22| B3| 2% Aol %A REXE 454 | AR | g
) Al H| 620—04 79,100,000 X 14 = 79,100 79,100
th) 7] o] AdH) 620—03 |5,000,0009 x12= 5,000 5,000
16) A3 2z 88,093 88,093
7H) A AN 620-04 |75,600,0009 x5.281%= 3,993 3,993
) Al b 620—04 [79,100,0009 x 12 = 79,100 79,100
th) 7] o] AdH) 620—03 |5,000,0009 x12= 5,000 5,000
17) A= 144,533 144,533
71 A AN 620—04 |126,000,0009 X 4.842%= 6,101 6,101
}) Al b 620—04 |133,432,0009 x12]= 133,432 133,432
th) 7] o] AdH) 620—03 |5,000,0009 x12= 5,000 5,000
18) AFAAlS 117,572 117,572
71 A A 620—04 |100,800,0009 x5.102%= 5,143 5,143
}) Al b 620—04 |107,429,0009 x 12]= 107,429 107,429
th) 7] o] AdH) 620—03 |5,000,0009 x12= 5,000 5,000
19) AFFT=F 104,009 104,009
71 A A ) 620—04 |88,200,000¢ x5.193%= 4,581 4,581
) Al H| 620—04 |94,428,0009 x 14 = 94,428 94,428
o} 7] F-o] ] 620—03 |5,000,0009 x12= 5,000 5,000
st A g A A g 7,237,711 98,426,039 105,663,750
EigmAT: R PR 4,649,380 64,240,390 68,889,770
AT SR P B 4,649,380 64,240,390 68,889,770
1. 827|229 2,631,576 60,354,005 62,985,581
7 . A 620—02 |4,898,715,0009 — <71%>4,699,622,0009 = 199,093 4,699,622 4,898,715
L]_. E%Q‘il 620—02 |40,395,646,0009 — <717%4>38,641,605,000¢= 1,754,041 38,641,605 40,395,646
T}, =8k 620—02 |17,691,220,0009 — <718>17,012,778,00091 = 678,442 17,012,778 17,691,220
2. B 7)ele 3| 1Y 2,017,804 3,886,385 5,904,189
7}, mskGod ANA 2,272,988 2,756,385 5,029,373
1) 629 620—04 |392,780,000¢ — <71%>99,960,0009= 292,820 99,960 392,780
2) g_.‘g_z‘j'—i/_ 620—-04 |2,295,935,000¢ — <71%>1,411,539,000¢ = 884,396 1,411,539 2,295,935
3) Fstw 620—-04 |1,359,099,0009 — <71%3>708,078,000¢4 = 651,021 708,078 1,359,099
4) 153t 620—04 |961,759,0009 — <71%>536,808,000¢ = 424,951 536,808 961,759
5) B8y 620—04 |19,800,0009 x 17 1= 19,800 19,800
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7|88 AlE4E WA
N8 AR EAAA ZAF T LA 4 (5] 2l
2 o 1=]
gopzg 22| B3| 2% RESHE Sy Ao 247 Ao | g

v 7533 AR (B 521 ~255,184 630,000 374,816
1) 29 (ZHdA) 620-04 |25,000,0009 x 27} €= 50,000 50,000
2) 253w ~166,727 330,000 163,273
7h =29 620—04 |163,273,0009 — <7]1%>330,000,0009= 166,727 330,000 163,273
3) =gu 620-04 |85,000,0009 — <714>210,000,000¢ = 125,000 210,000 85,000
4) 158w 620-04 76,543,000 — <71%>90,000,0009 = 13,457 90,000 76,543
AFEA A =) 4 2,588,331 34,185,649 36,773,980
AAB AR AR Y 743,494 27,551,899 28,295,393
1. QAN AR AT R Z 743,494 27,551,899 28,295,393
7]_ 7-] H] x‘l Oj 620—08 [28,295,393,0009 — <71%>27,551,899,0004 = 743,494 27,551,899 28,295,393
SaguAAATH Y 1,844,837 6,633,750 8,478,587
SYuAFEATRF 329,725 5,043,202 5,372,927
7}, B 7] E2-odn) 620—09 |5,372,927,000¢ — <71%>5,043,202,000¢ = 329,725 5,043,202 5,372,927
2. AHE st a7 e Al 1,515,112 1,590,548 3,105,660
7}, gkl AR A 1,515,112 1,020,548 2,535,660
1) =38 620—11 |765,984,0009 — <7]%>222,895,000¢1 = 543,089 222,895 765,984
2) 158w 620—11 |1,769,676,0009 — <7]1%>797,653,0008= 972,023 797,653 1,769,676
st w A| A o] A A 7,705,595 80,872,900 88,578,495
s uj| x| A A 21,630,352 4,775,023 3,144,671
S A=A 21,630,352 4,775,023 3,144,671
1. FEF=4 21,531,352 3,761,269 2,229,917
7} AFs A 2 s wA A} 1,228,086 1,930,816 702,730
) AAAxE 1,210,484 1,913,214 702,730
7 AR E 210-07 |515,470,0009 — <71%>855,780,0009 = ~340,310 855,780 515,470
W) #AgAn s 210-07 37,520,000 — <71%>99,960,0009 = 62,440 99,960 37,520
) AN E 210-07 |109,740,0009 — <7]>445,536,0009 = ~335,796 445,536 109,740
2h) AlGA s 210-07 |40,000,0009 — <71%>417,690,000¢ = A377,690 417,690 40,000

u}) HhaAH| Al X 210-07 |09 — <71%>14,000,0009 = 14,000 14,000

Hh) $-4 Al 2| H) 210-07 |09 — <71%>80,248,00091 = ~80,248 80,248

2) A|AlH] A17,602 17,602

7b 7+ 420-04 |09 — <71%>17,602,0009 = A17,602 17,602
U AFzyzrnEapadadx) 303,266 515,275 212,009
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7189 AR SEAA EATFu S5 4% (9] - 214
74 o) 1=
gopzg 22| B3| 2% ESIE Bz Azl 2427 | AgAue | @
1) AR ~297,357 509,366 212,009
7hH nARE 210-07 |159,650,0009 — <714>285,260,0009 = A125,610 285,260 159,650
W) e s 210-07 |36,660,0009 — <714>148,512,0009 = A111,852 148,512 36,660
o) AGA s 210-07 |15,699,0009 — <71%8>46,410,00094 = ~30,711 46,410 15,699
2} Wn) A A 210-07 0¥ — <7]%4>8,000,0009= 28,000 8,000
vl -4 X 1) 210-07 0¥ — <7]14>21,184,000¢= A21,184 21,184
2) Al/dn] 5,909 5,909
7h 7+2]H| 420-04 |09 — <71%>5,909,0009= 25,909 5,909
2. A8 g mF e A | £A99,000 1,013,754 914,754
A S e e R B A 44,000 491,788 447,788
1) 99784 620—-03 |77,000,0009 — <71%>121,000,0008 = A 44,000 121,000 77,000
. 7 AT o /-4 A55,000 521,966 166,966
1) §378H] 620—03 |77,000,000¢ — <71%>132,000,000¢ = 55,000 132,000 77,000
St A AN A 9,335,947 76,097,877 85,433,824
St A AN 9,335,947 75,346,128 84,682,075
1. A A 3,523,611 26,261,799 29,785,410
7F A ehan (9] 15) ~498,517 1,566,517 1,068,000
1) A]An] 420-03 |1,068,000,000¢9 — <7]1%>1,566,517,0004 = N498,517 1,566,517 1,068,000
(B = g R 500,960 1,423,648 1,924,608
1) Al4dn] 500,960 1,416,310 1,917,270
7hH AFAFx 420-03 |128,990,0009 x 12] = 128,990 128,990
W) dF5dx 620—04 |15,810,0009 x14= 15,810 15,810
h dFEdE 420-03 20,880,000 x 1141 = 229,680 229,680
) AF23sty 420—03 [15,810,0009 x 82 = 126,480 126,480
o W 1,660,458 4,565,623 6,226,081
1) A4 1,660,458 4,552,420 6,212,878
7H AFolE 4 (24D 420-03 |12,410,0009 x3.54= 43,435 43,435
W) AFddE (S 420-03 |12,410,000¢ x 64 = 74,460 74,460
) AFFE=(EA) 420-03 12,410,000 x 104 = 124,100 124,100
2 AFEFAd 2= (S 420-03 |12,410,0009 x 1.8 = 22,338 22,338
) AFSHAZ(SA 420-03 12,410,000 x 1524 = 186,150 186,150
vh) AFRIEZ (A 420-03 |12,410,0009 x 841 = 99,280 99,280
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SAFRSA LA (9] - 214
o) 1=

o RERE B R A% AR | g

D Aoz (B 420-03 |12,410,0009 x 72 = 86,870 86,870

oh) AFA LS (Z7) 420-03 |12,410,0009 x 154 = 186,150 186,150

) AFL1S55 (54 420-03 |12,410,0009 x 54 = 62,050 62,050

2h) g S s (54 420-03 |12,410,0009 x 54 = 62,050 62,050

7hH FA=HEZEF (24 420-03 [12,410,0009 x84 = 99,280 99,280

B AFAAA 1T (S 420-03 [12,410,0009 x 182 = 223,380 223,380

) AF (A 420-03 |12,410,0009 x 124 = 148,920 148,920

3 AFFEAS (W) 420-03 [6,205,0009 x 224 = 136,510 136,510

A) AFujakzx (2]9) 420-03 16,205,0009 x 841 = 49,640 49,640

) AF3hsku (949) 420-03 6,205,000 x 94 = 55,845 55,845

2t 9] F-Z 5 w A 26,490 4,941,084 4,967,574

1) A1AH] 26,490 4,927,140 4,953,630

7H AFSAS 420-03 [26,490,0009 x 12 = 26,490 26,490

ah, QUL 4 1,389,790 4,958,751 6,348,541

1) A1AH] 1,389,790 4,762,074 6,151,864

7hH AFolEZx (A A ESH 420-03 [22,032,0009 x 104 = 220,320 220,320

) dAFEA] L (g A £33 420-03 122,032,0009 x 44 = 88,128 88,128

h AFaFZ (W RF) 420-03 |17,187,0009 X 64 = 103,122 103,122

2h) AFEEZ X (YHEF) 420-03 22,032,000 x 242 = 528,768 528,768

uh) AFE E (EHR ) 420-03 |218,116,0009 x12= 218,116 218,116

vh) AR % (9] ) 420-03 |231,336,0009 x 121 = 231,336 231,336

uh, A28 A 38,250 305,122 343,372

1) Al4dH] 38,250 302,940 341,190

b AFxeslstw 420-03 |153,0009 X 250m= 38,250 38,250

A}, 7)EF 406,180 7,340,208 7,746,388

1) A4 367,550 6,962,029 7,329,579

7H AFEE(HAFFAN RS 420-03 [112,550,0009 x 141 = 112,550 112,550

W) AZEER) = (A& 0 R 420-03 |255,000,0009 x 121 = 255,000 255,000

2) AFFdsidsendy 38,630 38,630

71 AR 7] E 899 h) 420-01 |214,612,0009) X 8% == 17,169 17,169

) AAF 5 H] 420-02 |214,612,0009 X 9.9999%= 21,461 21,461

2. YA AN 481,660 3,104,763 3,586,423

St Al AN - St A AN - St Al S A
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7|8 AEZ5 UG A
718 ARSHAA AT SA L (9] : A
74 o) 1=

gopzg 22| B3| 2% ESIE == RENE 2427 | Agdel | @A
7F i) 481,660 1,952,063 2,433,723
1) A4 481,660 1,944,770 2,426,430
7H AFALdE 420-03 |7,730,0009 x 64 = 46,380 46,380
W AF2dlx 420-03 |15,440,0009 x 1221 = 185,280 185,280
t}) ok 420-03 |250,000,000¢ x 12] = 250,000 250,000
3. A etA A 3,387,991 11,570,142 14,958,133
7F AFEA 2 NE (A SH) 2,960,671 6,167,368 9,128,039
1) Al 420—03 |6.619,780,00091 — <714>3,659,109,0004 = 2,960,671 3,659,109 6,619,780
|5 S AR RA S 67,227 3,350,878 3,418,105
1) WA E 7} 22,000 22,000
71 A 22,000 22,000
(1) A4 73831 (392m") 420-02 |22,000,0009 x 14 = 22,000 22,000
2) WX B A 45,227 45,227
7h) A AN 45,227 45,227
(1) AFEFE%(2,092m) 420-02 |13,424,0009 x 14 = 13,424 13,424
(2) AL %(1,299m) 420-02 |11,440,0009 X 14]= 11,440 11,440
(3) AFEFZ(A71,678/A47948m) | 420-02 |20,363,0009 X 14]= 20,363 20,363
t}. =glolH| E 176,256 692,029 868,285
1) A]AdH] 176,256 649,944 826,200
7H dAFaAzx 420-03 122,032,0009 x 441 = 88,128 88,128
W) A5z 420-03 122,032,000 x 24 = 44,064 44,064
) AFA = 420-03 |22,032,0009 x 24 = 44,064 44,064
g} AXHEY 89,071 335,000 424,071
1) A AH] 420-02 |1,964,506,0009 X 4.534%= 89,071 89,071
ul, W3 E 19,873 192,000 211,873
1) A A 420-02 [330,000,0009 X 6.022%= 19,873 19,873
vl Qb (A=, &4 ¢t 22,500 44,700 67,200
1) Al4dn] 22,500 44,700 67,200
7hH AFEIe 420-03 150,000 X 150m= 22,500 22,500
Ab. 71 EF 52,393 140,667 193,060
1) A1AH] 52,393 140,667 193,060
7H AFH 32 (A d=5H A x]) 620—04 |34,773,0009 — <71%>8,000,000¢ = 26,773 8,000 34,773

I — Fold2F oS — StuAAAANA — SwA A — A AN
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7|8 AEZ5 UG A
7189 AR SEAA EATFu S5 4% (9] - 214
74 o) 1=

gopzg 22| B3| 2% RESHE Sy Ao 247 Ao | g
W AT &A=&y A) 620-04 |25,620,0009 x 14= 25,620 25,620
4, JFAHNA 1,283,894 4,077,926 5,361,820
7h & 89,250 823,719 912,969
1) Al7dH] 89,250 782,435 871,685
7hH ALz 420-03 |595,0009 X 150m= 89,250 89,250
LR 69,000 387,590 456,590
1) Al4dn] 69,000 366,275 435,275
7hH AFLuz 420-03 |575,0009 X 120m= 69,000 69,000
o} A 530,724 1,927,689 2,458,413
1) AAn] 420-02 197,611,000 — <71%>88,319,0008 = 9,292 88,319 97,611
2) A1Adn] 520,280 1,831,950 2,352,230
7hH AFEAd x 420-03 [101,0009 % 1,400m'= 141,400 141,400
) Aseu= 420-03 |101,000€! % 2,000m'= 202,000 202,000
t}) AFokx] = 420—-03 |102,0009 X 1,440m'= 146,880 146,880
2h) AFEyn 620—04 |30,000,000¢ x 14 = 30,000 30,000
3) Al F-of 8] 420-05 [8,572,0009) — <7]1%>7,420,0009= 1,152 7,420 8,572
2}, W 15,620 219,874 235,494
1) A1AH] 15,620 203,100 218,720
7hH AT 620-04 |15,620,0009 x 14 = 15,620 15,620
vl AdEE 168,000 313,600 481,600
1) A1AH] 168,000 313,600 481,600
7hH AFAREx 420-03 [2,240,0009 X75m= 168,000 168,000
] e k] 72,000 61,248 133,248
1) Al4dn] 72,000 61,248 133,248
7hH AFFI (LS ARALERA) | 420-03 18,0009 x9,000m = 72,000 72,000
Ab & 249,900 37,485 287,385
1) A1AH] 249,900 37,485 287,385
7hH ALY % 420-03 |287,385,0009 — <7]1%>37,485,0009 = 249,900 37,485 287,385
o}, 71e} 89,400 201,011 290,411
1) Al4dn] 89,400 200,200 289,600
7hH AFFE8 R (dA) 620—04 |280,0009 X 70m'= 19,600 19,600
W) A = () 620—04 |480,0009 X 10m= 4,800 4,800

AE - follxFeud — StuAdAANA — SwAENA - SurdEF A
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7|8 NS5 A
A 2 8 (2 - H4)
AU S £ —x= Ay FA7 7179 of| Ak <8 st A

b AFAAZ(d3) 620—04 |45,000,0009 x 12 = 45,000 45,000
2h) AFF 3= (EAMESEH 620-04 |20,000,0009 x 14] = 20,000 20,000
5. ZolQAE A E&F 0 1,145,840 1,145,840
7}, Z1ebA o A1 A 16,775 16,775
1) Al4dn] 16,775 16,775

7hH AFAL 3 420-03 |09 — <714>16,775,000€= A16,775 16,775
W) AFAda 620-04 |16,775,0009 x 14= 16,775 16,775
6. A71A A 1,249,101 1,805,883 3,054,984
7} R AAlAd 1,119,356 276,979 1,396,335
1) A A 420-02 |63,775,0009 — <714>11,934,0009= 51,841 11,934 63,775
2) A17dn] 1,061,000 263,150 1,324,150
7H A4 % (600KW) 420-03 |161,570,00090 X 14 = 161,570 161,570
) AFaE (600KW) 420-03 |161,570,0009 x 14 = 161,570 161,570
) AL % (600KW) 420-03 [161,570,0009 x 124 = 161,570 161,570
2 AFAH % (600KW) 420-03 |161,570,0009) X 14] = 161,570 161,570
uh) AL ZF (600KW) 420-03 |161,570,000¢1 x 14 = 161,570 161,570
vh) A & (750KW) 420-03 |253,150,0009 X 14] = 253,150 253,150
3) Al -t 420-05 18,410,000 — <7]18>1,895,0009 = 6,515 1,895 8,410
v A=y A A A 110,000 90,000 200,000
1) Al4dn] 110,000 90,000 200,000
7hH AFEAAEx 420-03 |30,000,0009 x 121= 30,000 30,000
W) AFEAd=x 420-03 [50,000,0009 x 12 = 50,000 50,000
) AFEd= 420-03 |30,000,0009 x 121= 30,000 30,000
== 19,745 960,241 979,986
1) A1AH] 19,745 960,241 979,986
7hH AFF G (HSGIIES) 620—04 |19,745,0009 x12= 19,745 19,745
7. AN 35,182 5,158,681 5,193,863
4 - M | 35,182 5,158,681 5,193,863
1) A A 420-02 |242,660,0009 — <71 4>213,778,000¢ = 28,882 213,778 242,660
2) A1Adn] 6,300 4,931,440 4,937,740
b AFd = 620—04 |6,300,0009 x14= 6,300 6,300
8. A SA (AH) 86,870 503,255 590,125

|27 -

ol

SN - A EEE A

J
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14

ApA| = w52 9 (9] 4D
o) 1=
o I RS 2= RENE 2427 | AR | @)
7F, w4 86,870 266,815 353,685
1) A]AdH] 86,870 266,815 353,685
7H ¢kikE 620—11 |12,410,000€ x 74 = 86,870 86,870
9. Al AN (XD 42,648 308,968 351,616
A RE I RCRA S 42,648 42,648
1) WA SH7} 42,648 42,648
7hH 144 42,648 42,648
(1) AE=(384.20m) 620—11 |15,695,0009 x124= 15,695 15,695
(2) AF4Yx1%(321.75m") 620—11 |12,122,0009 x 14 = 12,122 12,122
(3) AF21355(294.02m') 620—-11 |14,831,0009 x14]= 14,831 14,831
10. A7 A AA (XF=) 253,150 60,000 313,150
7F R A 253,150 253,150
1) Al4dn] 253,150 253,150
7h ks (7T50KW) 620—-11 |253,150,0009 x 121 = 253,150 253,150
11. IR AvIEAS 1,008,160 9,382,921 8,374,761
b AFEdaNE 499,010 499,010
1) A]AdH] 420-03 [499,010,0009 x 14 = 499,010 499,010
L R e = v 1,383,000 2,131,303 3,514,303
1) /{l/g}j] 420—-03 13,131,303,0009 — <71%>2,131,303,000¢ = 1,000,000 2,131,303 3,131,303
2) 7en) 420-04 |383,000,000€ X 14 = 383,000 383,000
O AFsE 220500 F 72,890,170 4,032,205 1,142,035
1) AAH] 420-03 |510,236,0009 — <7]%>3,400,406,0009= 2,890,170 3,400,406 510,236
S 291,985 9,582,208 9,874,193
Atk 87,710 8,394,864 8,482,574
A F-#E 87,710 392,077 479,787
TRANLEF BT 87,710 392,077 479,787
| 1. HZAAE 6,000 5,000 11,000
7}, # w e 210-01 |11,000,0009 — <714>5,000,000¢ = 6,000 5,000 11,000
2. 716t A 81,710 168,622 250,332
\ | 7h B (AFEAR) 410-01 |81,710,0009 % 18]= 81,710 81,710
204,275 1,187,344 1,391,619
ML 204,275 1,137,154 1,341,429
TE - WS = 71#2 — 71y




7|88 &5 9A
79 AR EAAA ZAF L4 9% (&b - <)
2 o) 1=

gopzg 22| B3| 2% Aol %A% e N 357 | AR | @
71 # 7)1 B2 ) 204,275 1,137,154 1,341,429
1. 7| 2 F =1 450 58,880 59,330
7}, 71 B7) B9 A ) 450 53,600 54,050
1) A Y7 F2=7n) 230-01 |14,570,0009 — <714>14,120,0008= 450 14,120 14,570
2. BA7| 29940 32,257 460,237 492,494
7} A=) 9 3 3,998 46,827 50,825
1) YRk 998 12,677 13,675
7H Al 210-01 |12,475,0009 — <71%4>11,477,0009 = 998 11,477 12,475
2) =Fujofn] 3,000 24,150 27,150
7h B 220-01 |6,780,0009 — <7]%>5,980,000¢ = 800 5,980 6,780
) T 220-01 |14,050,0009 — <714>12,650,0008= 1,400 12,650 14,050
th £9 220-01 |6,320,0009 — <7]%>5,520,000¢ = 800 5,520 6,320
RN BN 666 125,108 124,442
1) YRk A499 17,168 16,669
7 MA G 210-01 |15,469,0009 — <714>15,968,0008= A499 15,968 15,469
2) EujAln] 210-05 |6,288,0009 — <7]%>6,400,000¢ = A112 6,400 6,288
3) HA] %9 An) A55 6,420 6,365
7} F7HE 210-15 |1,565,0009 — <7]%>1,620,000¢ = A55 1,620 1,565
1 TR 8,980 56,417 65,397
1) YRk 998 9,683 10,681
7H A 210-01 |9,481,0009 — <7]1%4>8,483,0009= 998 8,483 9,481
2) Ezuj 2l 210-05 |6,096,0009 — <7]%>4,624,0009 = 1,472 4,624 6,096
3) HA] %0 An 110 5,040 5,150
7H F7HE 210-15 [350,0009 — <71%>240,0009 = 110 240 350
4) =i 6,400 35,870 42,270
7h #) 220-01 |27,400,0009 — <714>23,800,0008= 3,600 23,800 27,400
) =4 220-01 |11,350,0009 — <714>9,350,0009 = 2,000 9,350 11,350
o ©9] 220-01 |3,520,0009 — <7]%>2,720,000¢ = 800 2,720 3,520
&t xS s 19,945 63,210 83,155
1) drkedn] 2,495 12,178 14,673
7 M 210-01 |13,473,0009 — <714>10,978,0008= 2,495 10,978 13,473
2) Eu)] A n) 210-05 16,912,0009 — <7]%>5,632,0009 = 1,280 5,632 6,912

WS - WFYE - 7 HEY - 7] EEGH] - 78729
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ST )
Ard A% A o] 2357 | 71BA% 7
3) -] AN 210—-15 |5,070,000¢ — <71%>4,800,0009= 270 4,800 5,070
4) Zjodn) 15,900 35,200 51,100
7H A 220—-01 |28,880,0009 — <71%>22,880,0009= 6,000 22,880 28,880
) =y 220-01 |14,300,000¢1 — <717%>8,800,00091= 5,500 8,800 14,300
) 9 220—-01 |7,920,000¢9 — <71%>3,520,0009= 4,400 3,520 7,920
7182971 171,568 511,589 683,157
7} A =] A 7} 110,000 436,847 546,847
1) AFFEA A 110,000 63,450 173,450
7Y A G 430-01 |155,000,000¢) — <717%>45,000,0009= 110,000 45,000 155,000
U A X 9 3} 4,622 16,800 21,422
1) ule-e AN 4,622 16,800 21,422
7H) AFE EA 430—-01 |1,050,000¢1 x 2= 2,100 2,100
) A = 430-01 |250,0009 x5t)= 1,250 1,250
th FER 430—-01 |318,000¢ x4tj= 1,272 1,272
o} A A= 2,320 15,582 17,902
1) AHE-3 A 2,320 7,700 10,020
71 A 430-01 |500,0009 x 1t}= 500 500
) A A E T 430-01 [1,820,0009 x 1= 1,820 1,820
g}, ==uS 3 2,680 13,210 15,890
1) A A 2,680 8,410 11,090
7hH A8y 430-01 |5,680,000¢1 — <717%>3,000,00091 = 2,680 3,000 5,680
vl f25 S 51,946 10,000 61,946
1) AP A 8,675 10,000 18,675
7P ol Al utd A= 430-01 |7,680,000¢ — <7]1%>3,000,000¢ = 4,680 3,000 7,680
) Az 430—-01 |5,045,00091 — <71%>1,050,00091= 3,995 1,050 5,045
2) AF-37A AN 43,271 43,271
71 AAk 430—-01 |238,0009 X 26t)= 6,188 6,188
) ol =g a2 430—-01 |230,0009 %27t = 6,210 6,210
b &% 430—-01 |258,0009 x29tf= 7,482 7,482
2h) e A 430-01 |242,0009 x 43t} = 10,406 10,406
uh) 715 430—-01 |58,0009 x9tf= 522 522
v = 430-01 |22,0009 x10th= 220 220

H] — 7] 872
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N8 AEZHEU A
718 ARSHAA LA FUSA LA (k] - xd9)
gopzg 22| B3| 2% Aol %A REXE 454 | AR | g
AP AW E 430—01 |47,0009 x 29t]= 1,363 1,363
o}) 7ju| R 430-01 [210,0009 X 16t)= 3,360 3,360
PO I 430-01 |330,0009 x 16th= 5,280 5,280
2}p) Eulo]#k 430-01 |140,0009 ¥ 16th= 2,240 2,240
o B H) 156,350 0 156,350
o H] H) 156,350 0 156,350
olu) 8] 2 7] et 156,350 0 156,350
v v L 7 g} 156,350 0 156,350
AR E2S 156,350 0 156,350
‘1, AR EZS 156,350 0 156,350
7h. 7] 2 A A B kg 1,560 1,560
‘ 1) 2R3 MNAAY (54} 710-02 |1,560,0009 x13]= 1,560 1,560
., A A A B 2] e ok gt 154,790 154,790
{ 1) 7| =FAanmA g 710—02 |154,790,00049 X 13]= 154,790 154,790
7)€t 846,415 14,289,075 15,135,490
ol7AH] 846,415 14,289,075 15,135,490
Q1 AH| 846,415 14,289,075 15,135,490
2R AN 846,415 14,289,075 15,135,490
FETERA YA 846,415 14,289,075 15,135,490
1. 52 F2A 1A A7 846,415 14,289,075 15,135,490
7}, B AQLA R ©AFOI A ) 19,102 559,698 578,800
1) 7| EguztEsg 15,860 469,196 485,056
70 7185 110-04 |278,085,0009 — <71%>268,520,000¢ = 9,565 268,520 278,085
) F2n] 110-04 [42,000,000€9 — <71%>39,200,0009 = 2,800 39,200 42,000
th AT A F 110-04 |47,600,0009 — <71%>44,800,000¢ = 2,800 44,800 47,600
2h) Axp5o 110-04 |20,010,00091 — <714>19,315,0009= 695 19,315 20,010
2) B X FH4 Ry 7| A G 3,242 90,502 93,744
7h HAAYE 320—-12 |37,710,0009 — <717%>36,391,0009= 1,319 36,391 37,710
W) AR 7| B g 320-12 56,034,0009 — <7]14>54,111,0009 = 1,923 54,111 56,034
. skl zin] (3t 58,120 1,770,539 1,828,659
1) 7|1 EF 110-04 |1,073,793,0009 - <7174>1,042,913,000¢1 = 30,880 1,042,913 1,073,793
2) T4 110-04 |130,200,000€ — <7]14>121,800,000¢1= 8,400 121,800 130,200

718F — 13H] -

Av] — FEARIZA Y]

- LEFRAAALAY]
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A S 5—A= 2= < TR 7174 oAt & A
3) 7SS 110-04 [33,24194x879 x1071¥= 28,920 28,920
4) BAFIIRAF 110-04 |146,200,000€ — <717%4>139,200,000€ = 7,000 139,200 146,200
5) B7)de] = 110-04 43,000,000 — <7]%>43,500,0009 = A500 43,500 43,000
6) A4 110—-03 |65,996,000¢ — <7]1%>68,276,000¢ = £2,280 68,276 65,996
7) 4T RE 7 ARG 320-12 |120,700,0008 — <7]%>135,000,000 = A14,300 135,000 120,700
o} A SAel A 139,820 7,953,892 8,093,712
D 715 110-04 3.972,712,0009 — <71%>3,859,016,000¢1 = 113,696 3,859,016 3,972,712
9) Talr) 110—-04 |1,361,401,00091 — <7]8>1,361,263,00091= 138 1,361,263 1,361,401
3) F4H) 110-04 301,800,0009 — <714>281,680,000¢ = 20,120 281,680 301,800
4) 7VEE 110-04 |171,240,0009 — <71%>163,320,000¢ = 7,920 163,320 171,240
5) WAFIIR AT 110-04 1289,000,0009 — <714>268,800,000¢ = 20,200 268,800 289,000
6) At 110—-04 |355,186,0009) — <71%>393,306,000¢= 38,120 393,306 355,186
7) @& 2 A 240—-02 |138,500,0008 — <7]%>137,200,000¢ = 1,300 137,200 138,500
8) 4B 7| AT 320—12 |747,487,0009 — <7174>732,921,0009 = 14,566 732,921 747,487
2}, 8k 3] 2 9 o] An) 33,000 1,429,181 1,396,181
1) Az} 110—-04 |37,950,0009 — <7]1%>70,950,000¢ = A33,000 70,950 37,950
ul. A A e el A () 480,785 1,257,408 1,738,193
1 7135 110-04 1,139,040,0009 — <71 8>828,576,00091= 310,464 828,576 1,139,040
2) F21) 110—-04 |115,200,0009 — <71%>80,640,0001= 34,560 80,640 115,200
3) 7= 110—04 | (60,0009 % 48% x 10744) + (60,0009 x 321 x 64 8) = 40,320 40,320
4) BAFIIR AT 110—-04 |108,800,0009 — <71%>76,800,00091= 32,000 76,800 108,800
5) A 110-04 48,431,0009 — <7]1%4>46,633,0009 = 1,798 46,633 48,431
6) T3] 2 A n) 240-02 |41,600,00091 — <71%>31,200,00091= 10,400 31,200 41,600
7) A7} A8 240-02 |14,700,0009 — <714>8,750,0009 = 5,950 8,750 14,700
8) HAAYZ 320-12 |90,807,00091 — <71%>87,437,0009= 3,370 87,437 90,807
9) 4R 7| AT 320—-12 |115,295,0009 — <7]%4>73,372,0004 = 41,923 73,372 115,295
HF. Wee A EJA}3] E- X AFQl 74 H] 2,072 86,550 88,622
1) 7125 110-04 52,464,0009 — <714>50,832,0004 = 1,632 50,832 52,464
2) F211) 110—-04 |3,600,00091 — <714>3,360,000¢ = 240 3,360 3,600
3) WAFIIR AT 110-04 3,400,000€ — <7]%>3,200,000¢ = 200 3,200 3,400
AF. Wee Al E] Q1 AR 2] AFol A H) 2,072 91,203 93,275
1) NNEF 110-04 52,464,0009 — <714>50,832,0004 = 1,632 50,832 52,464

718F — 13H] -
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718 AE4E WA
719 AREEAA R F DA ¢ (&b - <)
2 o 1=]
gopzg 22| B3| 2% Aol %A% e N 357 | AR | @

2) F21) 110-04 | 3,600,0009 — <714>3,360,0009 = 240 3,360 3,600

3) HAFIIR AT 110-04 |3,400,0009 — <714>3,200,0009 = 200 3,200 3,400

o}, Wee Al E] A F-A kALl 74 1] 48,180 379,280 427,460

D 71¥s 110-04 |257,948,0009 — <71%4>228,744,0008 = 29,204 228,744 257,948

2) L& 110-04 35,881,0009 — <714>32,761,0009 = 3,120 32,761 35,881

3) F21n) 110-04 17,700,0009 — <714>15,120,0009= 2,580 15,120 17,700

4) 7VESY 110-04 3,360,000 — <714>2,880,000¢ = 480 2,880 3,360

5 WAF/IRAF 110-04 |16,150,0009 — <7]17%>14,400,000¢ = 1,750 14,400 16,150

6) I HFG 110-04 |13,360,0009 — <7]14>12,024,0009 = 1,336 12,024 13,360

7) Ax}oF 110-04 10,000,0009 — <714>9,000,0009= 1,000 9,000 10,000

8) k3 2 x)n) 240-02 |8,142,0009 — <7]%>7,600,000¢ = 542 7,600 8,142

9) HFAAYZ 320—-12 |8,862,0009 — <7]1%4>5,400,0009 = 3,462 5,400 8,862

10) 423 7| g2 320-12 [47,057,0009 - <7]1%>42,351,0009 = 4,706 42,351 47,057

2}, 8w Z 2 A ohH 3 ALl AN 128,228 128,228

D 7129 110-04 |6,534,5809 x 2 x 67] 9= 78,415 78,415

2) F21) 110-04 |150,000¢ x 27 x 67 2= 1,800 1,800

3) M 110-04 180,000 x 2 x 6/] 9 = 2,160 2,160

4) WAZTRAE 110-04 | 850,000¢ x 27 x 13] = 1,700 1,700

5) IR 110-04 47,9709 x 21 X 2884] 7= 27,631 27,631

6) AxFF 110-04 |255,870¢4 x 2% x 6 = 3,071 3,071

7) gk 2 1)) 240-02 |325,0009 x 27 x 18] = 650 650

8) AU R 7| AR T 320-12 |56,488,080¢1 % 2% X 11.33%= 12,801 12,801

2}, 7}8kA Tafol A ] 1,036 65,748 66,784

D 7135 110-04 23,832,000 — <7]1%>23,016,000¢ = 816 23,016 23,832

2) F2n) 110-04 | 1,800,000€ — <71%>1,680,000¢ = 120 1,680 1,800

3) WAS/IR A 110-04 |1,700,0009 — <71%>1,600,0009= 100 1,600 1,700
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